
 
1.14 

 3.
00

 

 2.75 

 4
5°

 

 2
.7

5 

 5.50 

 45° 

 3.00 

1/8" thick

This page is 1:1 scale when printed on an 8.5" by 11" peice of paper

Axel Support
best cut on CNC
cut 2x



Axel Support

Don't weld here

weld here

 32.0 
 65

° 

 5
.1

3 
 1

.5
0 

 45° 

 2
2.

00
 

 1
.5

0 

 1.00 

 1
.0

0 

Do not weld on internal seam
the heat causes warping

 15.50 

 65°  4
5°

 

Cut 1 1/4" hole for head tube

 1.50 

 2
.0

0 

 1.25 

 0.04 

 1.00 

 2
.0

0 

Neck

Head tube

Lower frame

*All metal except for the head tube is 1/16" wall thickness

Frame



 1.50 
 2.50 
 2.88 

 3.00 

 2
.0

0 

 
1.

50
 

1/4" bolt to remove top plate

Weld these bolts
 in place

1/4" thick

1/16" wall thickness

Do not weld here

Weld here
Watch out for the treads

Do not weld here

Pedal bottom bracket

 1.50 

 0
.5

0 

1/8" thick

 4.00 

 3
.0

0 

 0.25 

 1
.5

0 

 1.00 

 1.50 

 1
.0

0 
 0.75 

 4
.0

0 

Drill through first layer
 not the second

 
1.

50
  0.06 

C channal

Center tube

Top plate

Pedal Housing

Pedal bottom bracket



1/4" bolt 3" long

washer

washer

1/4" nut

1/4" nut

1/4" nut

center piece

receiver

clamp

 6.00 

 3
.0

0 

 1.75 

 1
.7

5 

 1
.5

0 

 1.00 

 0.25 

*This drawing is 1:1 scale when printed on 8.5" by 11" paper

1/4" thick

Seat Post Receiver



 7
.0

0 
 3

.0
0  0.375 

Weld the center 
piece on before
the nuts

Weld 1/4" nuts on second

 1.50 
 6

.0
0 

 1
.0

0 

 0.75 

 1
.2

5  1.25 

Center piece

 2
.0

0 
 1.25 

 1
2.

00
 

 2
.0

0 
 2

.0
0 

Cut 1/4" hole at 
45 degree angle

 1
.2

5 

 1
.5

0 
 1

.0
0 

 1
2.

00
 

 80° 

 0.38 
10 holes all 1" apart

 1
.0

0 

 1.00 

These holes are best cut 
before the receiver is
welded on

To keep thise holes lined up
insert seat post into receiver
and tighten the seat post using
the 1/4" nut. This will prevent 
everything from moving while
you drill.

Seat post

receiver

Seat Post Recever pt2
All tubes have 1/16" 
wall thickness



Back

Weld 1/4" nut

 4.00 
 4

.0
0 

 
0.27  0.50 

 0
.5

0 
Seat and Back 1/8" thick

 12.00 

 80
° 

 1.50 

 1.00 
 

0.3
75

 

 4
.0

0 

10 holes

Seat and seat back are identical 
with exception of seat post

Seat

Weld 1/4" nut

All tubes have 1/16" wall thickness

 1.25 

 1
.2

5 

 4.00 

 0.50 Cut 1/4" hole at 45 degree angle

*This drawing is 1:1 scale when 
printed on 8.5" by 11" paper



 6.00 

 1
.0

0  2
.0

0 

 1
.0

0 

 1.25 cut 1/4" hole at 45 degree angle

Weld 1/4" nut

1" square pipe socket

 20.00 

 1
.0

0 

The length of the back support is not important but 20" accommodates a headrest if needed.

 1.00 

 1
.0

0 

 1
.2

5 

 1.25 

Elbow and Back Support

receiver

1" square pipe socket



 0.85 
 

0.16 

 1
.1

8 

 1
.0

0 

 1
.7

1  0.58 

 0.85 

 0.76 

Gear and hub connector Weld collar on to plate.
It is easiest to place the folded hub, wheel, 
and collar on the axel before welding to 
get everything lined up.

Weld on collar

leave the tough of the gear 
the original thickness

 
3.

00
 

 
0.

51
 

 20° 

 
2.

83
 

 R0.10 

 R0.16 

Gear has 18 teath

 
0.

50
 

 
1.

00
 

 0.50 

Grind teeth to somewhat of a point

This page is 1:1 scale

collar

bend fins to 90 degrees


	Axel Support
	Drawing View34
	Drawing View37

	Frame
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View7
	Drawing View8
	Drawing View9

	Pedal Housing
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View57

	Seat Post Recever Clamps
	Drawing View38
	Drawing View39
	Drawing View40

	Seat Post Recever
	Drawing View25
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View41
	Drawing View42

	Seat and Back
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Drawing View47
	Drawing View48

	Elbow and back Support
	Drawing View49
	Drawing View50
	Drawing View64
	Drawing View65
	Drawing View66

	Gear and hub conector
	Drawing View51
	Drawing View53
	Drawing View55
	Drawing View56
	Drawing View58
	Drawing View61
	Drawing View62
	Drawing View63


